
620

300

695

576

75
0

12
10

69
5X
57
6X
15

Assembly Instructions

836-020

3 Hours



1

QTY ITEM

A

PART

B

C

D

M6X4522

M5X554

G

H

I

4

32

4

4

2

5 7

9 11

M6X12

M3.5X14

E

J

1

1

QTY ITEMPART

3 4

6 8

10 12

F

K

L 4

M4X84

2

M1 2 M5X45

1N

M8Xɸ50

M6Xɸ28

M5X18

ɸ6X15



STEPA.1 STEPA.2

6X45mm bolt installation as below

Bolt

Connecting
piece

Insert bolt when
Connecting piece undet
Such condition

Adjust connection piece
direction if condition
as illustrated

STEPA.3

3

1

2

6

7

8

4

12

9
11

10

5



3

1

A A

C

A

1 2

11
12

LL

2

A A

4

5

3

C

2 31

A A

21

11 12

 PCS

.SCREWS

4
M6X45A

 PCS

.SCREWS

4
A

 PCS

.SCREWS

4
M8Xɸ50L

 PCS

.SCREWS

4
M5X55C

 PCS

.SCREWS

2
M6X45A



5

3

5

6

10

6

2 31

AA

2 31

AA

6

9

I

12

 PCS

.SCREWS

8
M6X45A

 PCS

.SCREWS

8
M6X45A

 PCS

.SCREWS

4
ɸ6x15I



7

J

K

7

8

7

G

7

G

 PCS

.SCREWS

9
M3.5X14H

 PCS

.SCREWS

4
M6X12G



9

10

7

K

H

7

6

5

M

11

H

 PCS

.SCREWS

8
M3.5X14H

 PCS

.SCREWS

2
M5X45M

 PCS

.SCREWS

4
M4X8D

 PCS

.SCREWS

1
M6xɸ28F

F

4

D B

B

B



4

12

14

15

E

8

8

8

8

7

7

H E

H
12

4

4

13
 PCS

.SCREWS

4
M3.5X14H

 PCS

.SCREWS

9
M3.5X14H


	H-5048（装配图）-英文 Model (1)
	H-5048（装配图）-英文 Model (1)
	H-5048（装配图）-英文 Model (1)
	H-5048（装配图）-英文 Model (1)
	H-5048（装配图）-英文 Model (1)
	H-5048（装配图）-英文 Model (1)
	H-5048（装配图）-英文 Model (1)
	H-5048（装配图）-英文 Model (1)

